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Section A (20 x 1 mark)
Choose the correct answer and write its number in the brackets.

1. The value of 1 ten and 10 ones is

(1 10

@ 20

(3) 100

(4) 110 (

2.  What is the missing ﬁ'hmber?

?

512 <
500

(1 1

(2) 2

(3) 10

(4) 12 {



Subtract 123 from 150,

(1) 18
() 27
(3) 33
@) 37

4+4+4+4+4is the same as

(1) 4 groups of 4
(2} 4 groupsof 5
(3) 5 groups of 4
(4) 5groupsof 5

8 bicycles have wheels.

(1) 8
(@) 16
(3) 24
(4) 32




_ 6. The time shown on the clock is

(1) 1.40
(2) 240
(3) 8.10
(4) 8.20

7. = $9is the same as ¢.
m 9
(2) 90
(3) 900
(4) 9000

8.  What fraction of the figure is shaded?
ey
(2)
(3)

i Lo Wi N -

(4)



9. What is the mass of the box of biscuits?

(1) 350g

(2) 360g

(3) 3704

(4) 3804

10. The figure is made up of triangles.

[

Hn 5

@ 2 ™

(3) 3

4 4

11, Look at the solids below.

—~
W
s

C O w »




12, 849 = 8 hundreds 4 tens and ones.

1 9
() 19
3) 29
4) 39

13." 344 is 4 tens more than

(1 304
(2) 340
(3) 348
(4) 384

“ T LESE TR RE- w0
O S o

@ 10
@ 20
(3) 30
(4) 40



15, Mrs Lee used 35 apples to make 5 apple pies. How many apples are

16.

17.

needed to make 1 apple pie?
1 6

@ 7
(3) 30

@ 40 (

300-39-

M 261
@ 271
(3) 279
4 339 (

What comes next in the pattern?

O D e

o B

(3)

(%)




18. Pauf spent g of his money and saved the rest. What fraction of

his money did he save?

¢y

1
L
3 8
€9 5
.
@
BRONE (
19. The knife is about units long.
A S
R e
() 7 3 units
2 12
3) 3 |
(@) 4 - (

20. $2.40 has the same value as 1 one-dollar coin and

twenty-cent coins.

1) 5

2 6

(3) 7

(4) 8 (



Section B { 15 x 2 marks)
 Fill in the blanks with the correct answer.

21,  Write 813 in words.

22.  6roup the cars to show 4 groups of 6.




‘24, The numbers in the diagram form a pattern

1 4 7 |10

3 121 2 | 30

~ The missing number is

T will need £ of water to fill up the pail.

26. Fill in a number to make the working correct.

0O 9
~- 6 0 4
2 0 5




+ Use the following picture 1o answer Q27-28.

g 1 2 3 4 s 6 7 8 g 10 11 12 13 14 15
;M:MMMMWMMMMMMMMM ¢ ; . :

Pencil :
27. The ice-cream stick is cm.
28. The pencil is cm longer than the key.
29. Buns are sold in packs of 4. Each pack cost $5.
- Jenny needs to get 8 buns.

She will have to pay $ for the buns.

10




The picture graph shows the number of cupcakes that five children sold
at a food fair. Use the information provided to answer Q 30-31.

Mandy | @ @ @ @ @ @ @

Tim @@@@

‘\A_/linnie '@ @
sdly | @ @ W @ @
Peter ‘@ ‘@ @ @

Each @ stands for 5 cupcakes

30. Tim sold less cupcakes than Mandy.

31 Winnie will have to sell more cupcakes so that she will

sell the same number of cupcakes as Sally.

32. The mass of Box A is equal 1o the total mass of Box B and C.
~ The mass of Box A is 16 kg. : :
Box Cis 4 kg heavier than Box B.
What is the total mass of Box A and Box B ?

A C |B

The total mass of Box A and Box B is kg.

i1



33.

34.

35.

Lily has 4 ribbons A, B, C and D.
Ais shor‘rer- than B Cis shorter Than A but longer Than D

The longest ribbon is

Arrange the fractions in order from the greatest to the smallest.

2 5 7
8 8 |

greatest

The clock below shows the correct time.

Eddie’s watch is 10 minutes fast while his brother's'watch is5
minutes faster than his. Whaf isthe hrne shown on hrs brother's
watch ?

His brother's watch shows p.m.

12




Section € { 5 x 4 marks )
Do the following sums. Show your working and answer-statement clearly.

36. Ravi has 36 marbles.
Sam has 34 more marbles than Ravi.
How many marbles does Sam have?

He has marbles.

37. Mrs Wong bought 2 packets of fishballs for $1.50 each.
She also bought some vegetables for $2.
How much did Mrs Wong spend altogether?

She spent $

13



38.  Muthu's family drinks 3 litres of juice in 1 week. How
many litres of juice does his family drink in 4 weeks?

They drink litres of juice in 4 weeks.

39. A bag with 4 erasers has a mass of 200g.
Each eraser has a mass of 30q.
What is the mass of the bag?

The mass of the bag is g.

14




40. A book has 50 pages. Siti reads 5 pages of the book

each day. How many pages of the book are not read
after 7 days?

.pages are not read after 7 days.

———————— —-End of Paper-———-——-
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21)El9ht huhd'red and thirteen .22 ¥ 6

23)14 24)21 25)6 26)8 27)i0cm 28)6cm
29)$10 30)15 31)20 32)22kg 33)ribbon B
34)7/8,5/8,2/8 35)10.30p.m.

36)36+34=70 ,
He has 70 marbles.

'37)2x150=300
300+200=500
500cent=$5
She spent $5.00
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38)3x4=12
They drink 12 litres of juice in 4 weeks.

39)30x4=120
200-120=80
The mass of the bag is 80q.

40)5x7=35
50-35=15
15 pages are not read after 7 days.
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